
I.D.:	54430454

PACHET	DIVERSE	ARTICOLE

Data
publicarii

18.02.21 Coduri	CPV 44423000-1

Pretul
estimativ:

2.641,68	RON	-	2.641,68	RON 	 	

Descriere: SACI	RAFIE	40X0.84	,	SURUB	HEX	M8X60	20X0.34	,	PIULITE	HEX	M8	20X0.08	,	SAIBA	PLATA
M8X24X1.5	10X0.17	,	BROASCA	035-33	ZI	1X18.49	,	GARNITURI	56	M+S	1X20.17	,	CILINDRU
60MM	1X10.92	,	TABLITA	DREAPTA	ZI	1X1.68	,	AUTOFORANTE	4.8X19	ZN	250X0.17	,	CUTTER
CU	PROTECTIE	3X10.92	,	REZ.CUTTER	1X2.10	,	ULEI	UNIV.1L	12X9.24	,	LUGADISC
AUT180X1.6X22.2	5X2.52	,	SURUB	HEX	M10X50	2X0.59	,	PIULITE	HEX	M10	2X0.17	,	SAIBE
PLATE	M10X36X2	4X0.34	,	SURUB	HEX	M6X40	4X0.17	,	SAIBA	PLATA	M6X24X1.5	4X0.13	,
BURGHIU	SPIRALA	4MM	3X3.36	,	CILINDRU	92	2X36.13	,	CAP	PRELUNGITOR	3P	1X15.97	,
STECHER	CAUCIUC	IP44	1X5.88	,	LUBRIFIANT	WD-40	450ML	1X26.05	,	POLISTIREN	EPS	50
0.1X29.41	,	BANDA	IZOLATOARE	20M	4X4.20	,	SURUB	HEX	M6X60	20X0.25	,	PIULITE	HEX	M6
20X0.04	,	CUVA	80L	2X24.37	,	RANGA	LATA	1X25.21	,	HZ	RIGIPS	3.5X35	20X0.03	,	HZ	RIGIPS
3.5X25	120X0.03	,	SMIRGHEL	EVP	7X1.85	,	CANAL	CABLU	25X16	4X2.10	,	PANZA	BOMFAIER
1X0.84	,	PROFIL	COLT	30X30	2.5M	30X4.20	,	GOLDBAND	25KG	4X21.01	,	BANDA	RIGIPS	90M
1X10.92	,	PLACA	GKBI	12.5	1X26.89	,	BANDA	MASCARE	50MMX50M	3X11.76	,	FOLIE	PROTECTIE
F3-4*5M	9X5.88	,	GALEATA	PLASTIC	12L	2X4.20	,	PLASA	ARMARE	160G/MP	2X2.02	,	WEBER
N17	20KG	1X21.85	,	PROFIL	VA31-180CM	4X21.85	,	PROFIL	VA31-093CM	2X11.76	,	DISC	DEB
125X1	1X3.78	,	DIBLU	CUI	PERC.6X40	50X0.08	,	MOMENT	EXPRES	FIX	375G	1X15.97	,	PLINTA
SMART	1X10.08	,	COLT	INT	SMART	10X1.68	,	ELEMENT	IMBINARE	SMART	10X1.68	,	SAVANA
SUPERLAVABILA	TEFL.15L	2X235.29	,	GALEATA	STORC


